. VCE & PDF https://www.pass4itsure.com/250-251.html
g 2024 Latest passditsure 250-251 PDF and VCE dumps Download

PassditSure.com

250-2519%As

Administration of HA Solutions for UNIX (VCS 5.0)

Pass Symantec 250-251 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.pass4itsure.com/250-251.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Symantec
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

250-251 PDF Dumps | 250-251 Exam Questions | 250-251 Braindumps 1/4


https://www.pass4itsure.com/250-251.html
https://www.pass4itsure.com/250-251.html
https://www.pass4itsure.com/250-251.html

E VCE & PDF
' PassditSure.com

QUESTION 1

Click on the Exhibit Button.

Capacity = 100

G1 Load = 20 z’

36 Load = 40 jﬂ
; "

Capacity =100

G2 Load = 40 j‘_‘

G8 Load = 40 i‘
g
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Capacity = 100

G4 Load = 20 l‘},
GE Load = 50 &

All service groups have FailOverPolicy=Load and are allowed to run on all of the systems. What happens if Svr4 faults?
A. G4 fails over to Svrl and G5 remains offline everywhere.

B. G4 fails over to Svrl and G5 fails over to Svr3.

C. G4 fails over to Svr3 and G5 fails over to Svr2.

D. G4 fails over to Svr3 and G5 remains offline everywhere.

Correct Answer: B

QUESTION 2

Which system is unsuitable for use in a multinode cluster? System S1: one local drive three network interfaces access
to shared storage multiple processors two HBAs System S2: two mirrored local drives

three network interfaces access to shared storage a single processor two HBAs System S3: two mirrored local drives
three network interfaces access to shared storage multiple processors one HBA System S4: two mirrored local drives
three network interfaces multiple processors two HBAs

A. System S1

B. System S2

C. System S3
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D. System S4

Correct Answer: D

QUESTION 3

Refer to the exhibit.

include "types.cf"
cluster default_clus (
UserNames = {
aaron = alkdsjfaldjaldfaH,
barbara = ieruhrkafhkafhake,

carmen = urHkjREOHGkajhuel,
dionne = 1&5d;f-15'|L]'ll"l"-|;|-|
edward = asdlfjaielaj fLK'ln,
fung = EI :’5'Idf jald

georgia = L k]Lr"lL[{]r E1rka 1

Administrators = { aaron
operators = { barbara, georg'la }
CounterInterval = 5

group groupl (

systemList = { sysl =0, sys2 =1 }
AutostartlList = { sysl &t
Administrators = { carmen }
Operators = { dionne }

group group? (
systemList = { sys2 =0, sys1 =1}

AUtoStartList = { sysd 7
Administrators = { edward 7
operators = { fung }

Which two users can persistently freeze the service group group2? (Select two.)
A. aaron

B. barbara

C. carmen

D. edward

E. fung

F. georgia

Correct Answer: AD

QUESTION 4

What additional functionality is added to the Java GUI when accessing the VCS Simulator rather than a running cluster?
(Choose two.)
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A. Power off/on a system

B. Delete a system

C. Fault a resource

D. Fault a heartbeat link

E. Power off/on a disk array
F. Remove a heartbeat link

Correct Answer: AC

QUESTION 5

What can a system administrator do to ensure that Veritas Volume Manager volumes are started by the Volume
resource rather than the DiskGroup resource?

A. change the default value of the StartVolumes attribute of the Volume agent

B. change the service group so that it excludes the DiskGroup resource

C. create a dependency from the DiskGroup resource to the Volume resource

D. change the default value of the StartVolumes attribute of the DiskGroup agent

Correct Answer: D

250-251 PDF Dumps 250-251 Exam Questions 250-251 Braindumps

250-251 PDF Dumps | 250-251 Exam Questions | 250-251 Braindumps 4/4


https://www.pass4itsure.com/250-251.html
https://www.pass4itsure.com/250-251.html
https://www.pass4itsure.com/250-251.html
http://www.tcpdf.org
https://www.pass4itsure.com/250-251.html
https://www.pass4itsure.com/250-251.html
https://www.pass4itsure.com/250-251.html

